A i B

Select the length of next cell cycle tey 0.9
based on the current time t ’ e Digterministic model
Calculate SpoOA™P level based on tcyc EO-S ~ == = == Stochastic model
=07 \ s Stochastic model
- - =7 with correction
[ Run the simulation from t to t+tcyc | 906
T
¥ 0.5
[Distribute the species into daughter cells] S ¢ 4
P
003
Select one of the daughter cell =
_ Qo2
Update t=t+tcyc
0.1

End

Figure S6: Stochastic simulation of the model.

(A) The algorithm of the stochastic simulation for the starving condition.

(B) The correction of growth rate used in the stochastic simulation. The red line shows the growth rate given
by the deterministic model, same as Fig. 2A. The dashed line shows the population growth rate reproduced
by the stochastic model without correction. The blue line shows the population growth rate reproduced by
the stochastic model with k = 0.2.



